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Match the correct pair :

(a) Jasnathji (1) Revasa (Sikar)

(b) Sheetla Mata (2)  Chaksu (Jaipur)

(¢ Jambhoji (3) Mukam (Nokha)
(d) Jeen Mata (4) Katariasar (Bikaner)
wd g g S

(a) EATS (1) e (He)

(by ofiamr wray (2) =Y (SEY)

(c) SIS (3) FHM (FrEn)

(d) sfror A (4 FRARETE (ST

(B) al b2 c¢3 d4
(D) a3 b4 cl d-2

(A) a4 b2 c¢3 d-l

(C) a2 bl c4 d-3
Z In which area of Rajasthan is Gulabi Gangaur celebrated on Chaitra Shukla 5 ?

(A) Nathdwara (B) Udaipur

(C) Bundi , : (D) Jodhpur

AT % EE Y 8 ¥ I3 gEe 5 @1 el O w6 ey ?

(A)y FEE (B) d&ayX

©) & (D) Sirerge

ago 7 _
?/i) Khayal Bharmali (B) Chand Neelgiri
(C} Turra-Kalangi Khayal (D) Meera Mangal
Ha 9K qIEere ST G T 400 Ui Tew Yars ¥ RRE e @ O wl ?
(A) TR AL (B) =i rwri
(©) g e e (D) = "
4 Which one of the following temples of Rajasthan is rightly matched'?
(A) Eklingji Temple - Mount Abu B) Suryz_i Temple - Udaipur
(C) Dilwara Temple - Osian (D) Karni Mata Temple - Deshnoke
frer ¥ ST T TSI 1 HReT we gE ¥ 7
(A) UmfdTel A€t — |8 3 (B) §d wfey — T&agR
(C) eraret mfwy — Sl (D) WX AT AR — I

5 Who was the Chief Minister of Ajmer at the time of its merger in Rajasthan 7
(A) Harvilas Sharda (B) Balkrishan Kaul
(C) Haribhau Upadhyay (D) Heeralal Shastri
T H SRR % e % qud gel & JedHs B ure
(A) EXfereTe QIET (B) TGS hied
(C) Eurs Surs™ (D) B STl

6 Who amongst the following was one of the leaders of thq Revolt of 1857 in Kota ?
(A) Al Baig B) Kgshal Singh
(C) Jaidayal (D) Hiralal
fre ¥ ¥ B @ § 1857 % fuge @1 war ar? .
(A) ST T (B) Py e
(C) <TIEam (D) B

LA1-48 ] 8

3 Which khayal waé composed by Sant Peer Shah Ali and Tukangeer in Mewar 400 years
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7 Veer Satsai, Balvadvilas and Ramranjat were written by :
(A) Shyamaldas (B) Suryamal Misran
(C)  Gauri Shankar Heerachand Ojha (D) Jagdish Singh Gehiot
4 qews, TAEE SR IEEE § awE ¢
(A) sowwEE (B) gdwew gy
(C) I sfpY e aEn (D) wEy e TeeE
8 The site of Bagore is situated on the bank of river __in district Bhilwara.
(A) Luni (B) Banas
(C) Kothari (D) Chambal
9T Arearer e @ I % @i Y fed ¥
(A) ool (B) =™
(€) wiarh (D) uww
9 Which Chauhan ruler got the Suhaveshvar Shiv Temple built in Menal ?
(A) Vigrahraj IV (B) Apargangeya
(C) Prithviraj II (D) Vigrahraj 1l
e o geasay B wiar @ fmiv feg Gem sws ¥ wamn o
A) fawews v (B) SO0THg
(C) Y= 11 (D) FEwETs 11
10 Which one of the following is a source of information about the history of Pratiharas of
© Mandor ?
(A) Sambholi inscription (B) Ghatiyala inscription
(C) Bijapur inscription - (D) Arthuna inscription
frrfaien & @ aF-a1 A & ukerd & shem @ swerd G 37
(A) T et (B) ufewmn st
(C) wegT STty (D) eryger sthere
11 Which one of the following rulers did not establish matrimonial alliance with Akbar ?
(A) Bharmal of Amer (B) Rawal Har Rai of Jaisalmer
(C) Rao Surjan Hada of Ranthambore (D) Rao Kalyanmal of Bikaner
e o @ B W e A oY § Jaiee wew il wE Rl e
(A) ET & RAA (B) SIEEHT & Ta B
(C) U & T goid o1eT (D) HET & TT BT
12 The first floor of Hawamahal is known as :
(A) Ratan mandir (B) Prakash mandir
(C) Hawa mandir : (D) Pratap mandir
TAMEA B Tecl Hiwe B AW wT E? |
(A) e HRY (B) w9l HiaX
(C) ®ar HieY (D) WA HiET
LAL48] | 3 - [PT.O.
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In which of the following years did the Royal Commission on Opium visit Rajasthan ?
M ¥ HEfua ad weE Fra § § few ad W e e gt ?

(A) 1816 (B) 1893

(C) 1856 (D) 1888

14  Begu Peasant Movement was led by whom ? »
(A) 'Ram Narain Chaudhary (B) Vijay Singh Pathik -

(C) Motilal Patel (D) Hari Bhau Upadhyay
3] FRE G @t g Ree e 7

(A) T STEer Aed (B) fasrm s qfuwm

(C) A U (D) =¥ wre Sursy

15  Who started the Bhagat Movement ? v
(A) Rajasthan Sewa Sangh (B) Bhogilal Pandya
(C) Bhurelal Baya (D) Guru Govind Giri
W TR fpae arn e fear war 7
(A) TSR gaT €Y : (B) Hriene qissn
(C) @ s (D) T Tt frd

16  Which state of the Matsya Union was ready for its merger with Uttar Pradesh based on the

mandate of the Public ?

(A) Bharatpur (B) Karauli

(C) Dholpur (D) Alwar

e W BT HF—T T ST 6 GgAd & wwwwﬁw%m&iﬁaﬁ?ﬁaﬁw%ﬁm%ﬂr{

ar 7
(A) HXIYR (B) @e
(C) Wyt S (D) grax

17  Kali Bai, who was killed in May 1947 by the police while attempting to free her teacher,
‘belonged to which district ?
(A) Udaipur (B) Dungarpur
(C) Banswara (D) Jaisalmer

q§1947z€fma%am%awwaﬁgmm%%mgmﬁrﬂﬁtﬁmwﬂﬁi
Te g e &1 o ?

(A) TEEIX
(C) it

(B) TWRY
(D) A

18  The first woman of Rajasthan who was arrested during the freedom movement in Rajasthan

was ? ,
(A) Nagendra Bala (B) Anjana Devi Chaudhary

(C) Ratan Shastri ' (D) Rama Devi Pandey
Wmﬁwmaa?rmwaﬁmﬁwwaﬁqﬁmfﬁeﬁ?
(A) T S RI (B) o+ <& el

(C) <@T el (D) TARE U

LA1-48] a 4 [P.T.O.
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?.9 Which fort in Rajasthan is also known by the name of Dharadhargarh ?
(A) Bhatner fort (B) Gagron fort
(C) Ranthambore fort (D) Choumuhagarh
ST % Reg 7% H UNIETCTE % T QY A S AW E 7
(A) W @l fepen » (B) IO @1 RBw
(C) TorersdT o7 fepanr (D) HrgeErTe
20 Where is Chand Bawadi situated ?
(A) Amer (B) Sikar
(C) Abhaneri (D) Tilwara
aie STl wmeEl g 7
(A) WX (B) €&t
(C) s (D) ferwreret |
21 }:Xhuéhlsamt of Rajasthan and d1$01ple of Ramanand renounced his state and joined his Guru
andali 7
(A) Dhannaji (B) Jambhoji
(C) Peepaji (D) Raidas
vﬂwﬁ%ﬁﬁawaﬁ?w%ﬁm%mmﬁmm@%ﬁﬁﬁmﬁﬁ‘g@ ?
(A) o= Y (B) <y Wl
(© ot s @) T
22 The '"Than' of folk god Gogaji is usually found under which tree ?
(A) Khejri (B) Peepal
©) Bargad (D) Neem
IbSEar TS & ‘ar a6y 98 % e U wm ¥
(A) TWET (B) dua
(C) wUE (D) M ;
23  For cdor;tribution to which Handicraft has Kudrat Singh been bestowed with the Padamshri
award 7
(A) Textile Printing (B) Mecenakari Art
(C) Moradabadi work on Brass (D) Blue Pottery
Fea e @l fbw swdm § wery & fag ugnd ¥ ercdga fear war ¥ 7
(A) HIS & BUR (B) HHETHT B
(©) YIad 9T FUETE B (D) =& urel
24 %/Iuhfmn}?ad Shah and Sahib Ram were famous painters of which School of Rajasthan
ainting
(A) Jaipur (B) Bundi
(C) Alwar (D) Udaipur
HEHE 918 SR Weav™ 6 Teredr fsreher 9ol & wiing s & ?
(&) SEgE B) =
(C) e D) SIIYL
25 The compositions of Dadu and his disciples are mostly found in which dialect/language ?
(A) Mewati (B) Dhundhari '
(C) Mewari (D) Marwari
qg 3R T et 1 wd sty feg v F o Wiy ¥ 7
(A) T (B) Ygrt
(C) warEl (D) HRAE
LA1-48 ] a 5 N [ PT.O.
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Which one of the following is the per cent share under reserved category to the total recorded
forest area of Rajasthan according to State of Forest Report 2017 ?

Bz o B T 2017 % STER TSRAE TSY % Yol a9 &5 & Fritea § & aie-
|1 uiyere sty srefi St & e oM & 7 .

(A) 38.11 (B) 55.64

(C) 625 (D) 4.84

Shergarh wildlife area is situated in which of the following districts ?

(A) Baran (B) Udaipur
(C) Jaipur (D) Bikaner
s‘rm@awﬁaahﬁmﬁfﬁaﬁﬁﬁﬁwﬁﬁﬁﬁw%?
(A) s (B) SEEY
(€) wag (D) ST

The plant known as the 'Green Gold' of the tribes is :
(A) Salar (B) Dhokda
(C) Bamboo (D) Gular
Rl % B W & A W S d e g8 ¥
(A) ET (B) et
(C) =4 ‘ (D) T

Ozone day is celebrated on :

(A) 16t September (B) 16t December

(C) 16% January (D) 16t June
SIS e W ST % -

(A) 16 g @ | (B) 16 femwt =
(C) 16 S=ad &I , (D) 16 5 @l

Which one of the following is a reason of Blue Baby syndrome ?
(A) Nitrate (B) Mercury ‘

(C) Lead (D) Iron
frefifae & § BF-a1 T = 99 R *@fwafiaa%?
(A) g (B) U
(C) g (D)

What is the percentage of area and population of Rajasthan affecte('i by Thar desert ?
(A) Area 50%, Population 50% (B) Area 61%, Populat%on 40‘;/»
(C) Area 70%, Population 60% (D) Area 70%, Population 70%

TS o WW@WWHWWW&WW%?
(A) BB 50%, STTEET 50%. (B) &5%d 61%, W@T 40%
(C) &THA 70%, T 60% (D) BT 70%, SEE 70%

[PTO.
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Which one of the following is biological name of Rajasthani camel ?

(A) Camelus dromederius (B) Camelus bacterius
(C) Camelus desertius (D) Camelus europa
TSIl $e &1 Jsiies T § -
(A) w9 gHshayg (B) wHwd el
(C) HAwd Wiy (D) HHAE I
33 Growth with stability and self reliance was the objective of which plan ?
(A) Third Five Year Plan (B) Fourth Five Year Plan
(C) Fifth Five Year Plan (D) Sixth Five Year Plan
fertar & Wiy Reerw ofit anwfislcar few Qe @1 weg ar?
(A) g dgedta g (B) =gd deedt gren
(C) uiweE! d=eNfy g (D) v vgasi TR
34 'Som-Kamla-Amba' irrigation project is situated in :
(A) Bundi : : (B) Kota
(C) Dungarpur (D) Banswara
AH-gEer-erar R ufaern fea ¥ -
(A) @ 4 (B) wrer &
©) FRg # (D) wiwersT &
35  Which of the following is source of water for Hanumangarh and Churu districts ?
(A) Kanwarsen lift Canal (B) Guru Jambheshwar lift Canal
(€) Choudhary Kumbharam lift Canal (D) Pokaran lift canal
Frffad & @ & s 9 ge el % e W @ g 37
(A) e fave ey ‘ (B) & sPHsax fave wEY
(©) gl Frmom fiwe e (D) BT forwe 8¢
36 Which one of the following National highways links Ajmer to Bikaner in Rajasthan ?
(A) N.H. 89 (B) N.H.79
(C) N.H. 59 (D) N. H. 69
ﬁwﬁﬁf@ﬁﬁ@mwﬁﬁ@aﬁmmwmﬁmaﬁ@zﬁm%m%?
(A) TH. Uwd. 89 (B) T©H. uwg. 79
(C) W wdg. 59 (D) wA. wg, 69
37  In which of the following mineral production, Rajasthan is number one in India ?
(A) Feldspar (B) Lignite
(C) Copper (D) Iron
Wﬁ%%%%mﬁwwwﬁww%?
(A) et B) ferme
(C) ra (D) e
LA1-48 ] a 7 - [PT.O.
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40

(A) Y (B) gL
(C) Srgamt (D) wiganst
41 Which one of the following type of soil is found in the maximum part of Rajasthan ?
(A) Aridosols and Entisols (B) Aridosols and Alfisols
(C) Inceptisols ‘ (D) Vertisols and Alfisols
TSI & weiifes &5 T freafoafad & @ @ @ gar ol o 2
() ufed Td gheded B) TRERE T oo
(C) FTafeded (D) TLTHeE T SehiEed
42  According to Economic Review 2017-18, the total number of districts of Rajasthan selected
for National Horticulture Mission, is — :
i ien 2017-18 & SIE Tored™ o I S free & forg wafr B o
g g - : |
(A) 22 (B) 23
(C) 24 (D) 25
43 Which of the following river is also known as 'Kamdhenu river' ?
(A) Banas ' (B) Chambal
(C) Kothari (D) Banganga
frafafaa & @ @S- 78 @y T— W@ Fwear) 7
(A) s (B) T
(C) @ (D) sTFEET
44  Which one of the following districts is the largest producer of sugarcane in Rajasthan ?
- (A) Jodhpur (B) Ganganagar
(C) Bundi (D) Sirohi
Prerfafas Rrell & ¥ o TF TR § T B TEY IST IUEH ¢ 7
(A) WEgR (B) T
© (D) frdE
LA1-48 ] a 8 [PTO.
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Which one of the following is not correctly, matched ?

(Ay Alwar — Sabi, Ruparel (B) Udaipur — Banas, Berach

(C) Karauli — Jagar, Gambhiri (D) Dungarpur — Banganga, Morel

fr=ifesa & @ wE-T1 g wé gake T8 E 7

(A) e — TEl, TURW (B) $EUYY - I, ¥4

©€) wHUFH — R, T (D) $TRYIT — TOFIM, AR

According to Koppehn’s classification, which of the following stands for Dungarpur district ?
HIUT TR % ey I fefaied ¥ ee-ar RgY e % fae ¥ 7

(A) Aw (B) BShw .

(C) BWhw (D) Cwg

Which one of the following districts of Rajasthan has maximum annual rainfall variability ?

(A) Barmer (B) Jaipur
(C) Jaisalmer (D) Banswara

T ¥ Prefataa o 9 feg e F aftfe aut o erftesan faogan ol sl #9

45

46

47

48
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Extension of Radcliffe in Rajasthan is from :
(A) Hindumal Kot (Ganganagar) to Bakhasar (Barmer)
(B) Konagaon (Ganganagar) to Shahgarh (Jalore)

(C) Hindumal Kot (Ganganagar) to Shahgarh (Jalore)

(D) Konagaon (Ganganagar) to Bakhasar (Barmer)

Lo Tar & e ¥ faan §

(A) fegreee (TAR) ¥ IEER (SRE3) 9%
(B) @mmita (TTIR) ¥ Ee (W) 9%
(C) frguame (AR) § e (WER) 96
(D) ®UTE (PIAT) o SEER () a6

The longitudinal exiension of Rajasthan is : '
69°30'E to 78°17'W

(A) 69°30'E to 78°17'E (B)
(C) 69°30'W to 78°17'E (D) 69°30' W to 78°17' W

T HT 9= foeam &

(A) 69°30' gl ¥ 78°17" gt (B) 69°30" gai ¥ 78°17' ufymHr

(C) 69°30" ufyerlt & 78°17' gl (D) 69°30' uiyery & 78°17 ufyEwr

What is height of Peak 'Ser' ?

(A) 1722 meter (B) 1597 meter
(C) 1380 meter (D) 1496 meter
[ udd G B S e ¥ 7 '
(A) 1722 A=Y (B) 1597 HieY
(C) 1380 X (D) 1496 HeX

Which one of the following districts of Rajasthan is not having the extension of Arawalli
hills ?

(A) Sikar (B) Jhunjhunu
(C) Jalore (D) Alwar
T % e el o @ B 9 e e A errad) wereY & femar e &0
(A) WY ~ B) TFL o
(C) @R (D) e@ET
'Phulwari ki Naal' is located at :
(A) Udaipur (B) Rajsamand
(C) Kota (D) Bundi
Faarl @ T fua ® ‘
(A) JIGIW ¥ (B) TwwEE H
(C) ®mERTH D) A

Which one of the following is not correctly matched ?

(A) Ghaggar — Dead river (B) Bhorat - Plateau

(C) Nagpani — Arawalli pass (D) Ser — Arawalli peak
freifed & @ wF—w g we gafea E s 7 '
(A) ==X — gd T4 - (B) HRE - BT
(C) #AFMET — STl X (D) &~ rrEel =

9 ~ [P.TO.
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Alcohol is produced during the process of -
{A) Ascent of sap (B) Photosynthesis
(C) Aerobic respiration (D) Anaerobic respiration

ulgrar fre Uwewia o et g ¥ - ,

(A) TErdEe (B) WeBTyT HIwuol

(C) amdwE gTes (D) SrEEE 9aEH

Canada Balsam, a mounting agent used to make permanent slides is obtained from the
species of -

(A) Abies (B) Cedrus

(C)  Pinus (D) Juniperus

HIET JIATH, Qasnm%wq@fz aﬁwﬁrmﬁsfﬁvwﬁmm% % UH Wi o
U BT € —

(A) g (B) d@gg

©) wET D) T
Stolon is a - _

(A) Stem (B) Root

(C) Underground stem (D) Sub aerial modlﬁed stem
eI BT § - | | |

A @ B) T

(C) 9frm ww (D) SYArEg WU €
What is a Rosie ?

(A) A transgenic goat ' (B) A transgenic cow

(C) A transgenic sheep - (D) A transgenic flower
Ui T 7 |

(A) UH ZESiE ghl (B) TS ZiEWH T

(C) Uw giEwihe 95 (D) TH ziEsitis g
The edible part of litchi is -

(A) Mesocarp (B) Thalamus

(C) Seed coat : (D) Aril

W W WH A AP § -

(A) wegwaraia (B) gwwH

(C) e ' (D) T

Minimum number of meiotic divisions required to obtain 100 pollen grains of wheat -
T A loowmwmmégmﬁwaé@ﬁwaﬁmsmﬁ ?
(A) 25 (B) 50

(C) 100 (D) 150

[P.T.O.
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Who coined the term totipotency ?
(A) Morgan (B) Schwann

(C) Darwin (D) Haberlandt
yulgrerar s e wliarfe ot 7
(A) =rfF (B) &=
©) =iffw (D) TERATS
58 Tap roots are commonly found in -
(A) Angiosperm - (B) Gymnosperm
(C) Monocots (D) Dicots
YO JEaT A 95§ S -
(A)  STgaEH (B) SrITgTETSr
(C) uHIEET (D) TEreTasT
59  Storage product of Rhodophyceae is -
(A) Starch (B) Glycogen
(C) Floridean starch (D) Cellulose
USTERH & dfug Sae & -
») = . (B) TIEHNE
(©) Wi rzrff (D) Wﬁr
60 Palmel]a stage is present in - ,
(A) Chlamydomonas (B) Spirogyra
(C) Aspergillus (D) Riccia
Gl STIT UTE SRy ¥ -
(A) FEHIZEHMIS (B) wEIATIET
(©) Ty | (D) TR
61  Edible part of apple and pear is -
(A)  Thalamus (B) Epicarp
(C) Mesocarp (D) Endocarp
99 g AR &1 W GFg 9T & -
(A) gsEA | (B) SRIw@M
(C) wegmwivRy (D) 3T weti
62  First "Earth Summit" for "Convention on Biological Diversity" was held at -
(A) Johannesburg (2002), S. Africa (B) Rio de Janeiro (1992), Brazil
(C) Dehradun (1992), India (D) New York (2000), USA
e Rafrernell Wt wReE ¥g wer ‘e whte gew ar —
(A) SliETgsE (2002), &, SThEH (B) Rt (1992), Erﬁﬁa
(C) TTUA (1992), W - (D) =g (2000), qug.a.
LAI-48 ] a 11 - [ PT.O.
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Red rust of tea is caused by -

(A) Green Algae B)
(C) Fungi (D)
o W Rz U fhed gra e & 7
(A) B S (B)
© wIF (D)
The fruit of Sorghum is known as -

(A) Cypsela B)
(C) Achene (D)
VT % A B HED & -

(A) foa (B)
(C) wbH (D)

The term biocoenosis was coined by -

(A) Tansley
(C) Warming

= grafaniee feas wfaaiza fear ?

(A) T=ad
(C) =i

Gibberellin was isolated from -

(A) Algae
(C) Bacteria

e &t gue fear mar -

(A) Sa@ |
(C) Siar &

(C) Tyloses

)
D)

(B)
D)

(B)
(D)

(B)

D)

(B)
D)

Red Algae
Brown Algae

GRS
L far

Caryopsis

- Legume

Ffedife
R

Carl Mobius
R. Mishra

CAGRCIICE LS
Y. T

Fungus
Bryophyte

Hah g

FTAEEE

The instrument used to measure diameter of a tree trunk is called as -
(A) Alburnum

Duramen

Dendrogram

IYHT [T BT UT 6 d9 T Sy |91 San &, %ed & —

(A) TH*E

(C) e
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Which of the following is correct in relation with hormones released by human placenta ?
(A) Estrogen and Androgen

(B) Placental Gonadotropin, Estrogen and Androgen

(C) HCG, HPL, Progesterone and Estrogen

(D) HCG, Progesterone and Androgen

qE S BT TR e % gy § G o Ry wEr T 7
(A) TEH TE TURIST

(B) w@=d THERINA, TN U8 T0geH

(C) Twa s, TEALTE., TR T TR

(D) TEL.ELSL, WU O g

At the time of conduction of nerve impulse, the repolarization occurs with the -
(A) Influx of KT ions (B) Efflux of Na* ions

(C) Efflux of K* ions (D) Efflux of both Na™ and K7 ions
<IfreBT STt % U9 % W g gen @ fear § g ¥ -

(A) K* el o7 arvems (B) Nat 3ot &1 sfedems

(C) Kt orael @ afedars (D) Na* ug K* anaeif &1 gfedens

Select the statement for human brain which is not correct :
(A) Mid-brain has two optic lobes.

(B) Corpus callosum connects two cerebral hemispheres.
(C) Hypothalamus has hunger centre.

(D) Medulla oblongata controls involuntary activities.

g ARass & [/ 6UF B ga Bifve, S ge e R
(A) v qitass o a1 ge Wil Suied

(B) &I FHeraw & wHRass Mra! & Siedar ¥
(C) TRIYTTH ¥ @ F HF o T |

(D) gar ereier arifames feemetll w1 frefsor &war ¥ |

The discrimination in the sound of varying intensities is done by which part of human ear ?

(A) Sacculus (B) Utriculus
(C) Basilar membrane (D) Ressiner's membrane

ety et o1 ey bt fersidigd ol % fepw wm g fepar v § 7

(A) geE (B) gped
(C) ormemi waT (D) Y{FT & &

Which of the following statements is not correct for a striated muscle when it contracts ?
(A) No. change in the length of I band.

(B) No change in the length of myosin band.

(C) A band retains its length.

(D) Sarcomere becomes shorter.

g A5t & fow, 519 a5 dgfta €= 3, Frafalaa sut & @ @9 @l °F & 7
(A) 198 & wa ¥ e afeds w8 g |

(B) Wi wedl @ wwrg ® wig uftads wEf g |

(C) A U & wwTs T A T

(D) TR B € wr b |
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The most abundant RNA in animal cell is -
wroll iRt 7 @ ¥ RNA @) ygear ¥ 7
(A) t-RNA (B)
(C) mi-RNA - ‘ (D)

-RNA
m-RNA

In Mendel's experiments, the dihybrid phenotypic ratio was -

(A) 9 (Round, Green) : 3 (Round, Yellow) : 3 (Wrinkled, Yellow) :
(B) 9 (Round, Yellow) : 3 (Round, Green) : 3 (Wrinkled, Yellow) :
(C) 9 (Wrinkled, Yellow) : 3 (Round, Green) : 3 (Round, Yellow) :
(D) 9 (Wrinkled, Green) : 3 (Round, Yellow) : 3 (Wrinkled, Yellow)
e & wanll § fadet weveT g oar - |

(A) 9@, B0 : 3 (M@, 97) : 3 (iR, 9w) @ 1 @R, 8

(B) 9 @let, @) : 3 (e, %) : 3 (gilaw, 9@) : 1 (g, w9

(©) 9 (giam, 9w ;3 (W, &) 3(3*?:@% 1 (g, &)

D) 9(gllEr, 50 : 3 (T, 9) : gﬁ‘m @) ;1 @, B

1 (Wrinkled, Green)
1 (Wrinkled, Green)

1 (Round, Green)

Match the Syndrome in column -1 with Karyotype in column - II and select the answer
which is not correct : :

Column ~ Column - II
(A) Edward's Syndrome - Trisomy 18
(B) Patau's Syndrome - Trisomy 13
(C) Turner's. Syndrome - Trisomy 21
(D) Klinefelter's Syndrome - XXY '

W‘H%ﬁ%ﬁﬁ%@qﬁ@ﬁ-ﬁﬁ%ﬁ%ﬁﬁmﬁﬁﬁmﬁﬂwmmﬁﬂﬁﬁﬁﬂﬁ

EGEE
g - @ - 1
(A) weagy fam ~ s 18
(B) wr faem - ZrEEEl 13
(C) =% Rrgm — ZrEaE 21
(D) FEThe e ~ XXY

The animals of which group are homeothermic ?

(A) Whale, Pigeon, Bat (B) Crocodile, Alligator, Bat
(C) Whale, Alligator, Pigeon (D) Hippocampus, Bat, Alligator
e § B9 W g avard wivey @ ¥ 7
(A) =, FLR, TIIES

(C) =, TRy, HY

(B) whibrelgd, JareY, T9mes
(D) TearemE, Tmes, Qe

1 (Wrinkled, Green)

[P.T.O.
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Match List-I with names of Phylum with List-II with structures and select the correct
answer :
List-I List-I1
(a) Porifera (i) Flame cells
(b) Platyhelminthes (it}  Choanocytes
(¢) Nemathelminthes (iii) Phasmids
(d) Chordata (iv) Cnidocytes
' (v) Malpighian tubules
(vi) Post anal tail
Ha“rasﬂmgaaqéﬂﬁmmﬁgaaqﬁnm A B TN GE AT BT qI HY
-1 -1
(1) O | () Semen wifmnd
(b) wERfeds (i) @
(c) fraeehdm (i) wifwsy
d) wige (iv)  doreprfarend
(v)  Fedel sl
(vi) 99OTE
(A) (@) (iv), (i) (b) (i); () (v): (d) (vi)
B) (@) (iid); (b) (i), (iv); (o) (iD); (d) (v)
(€ (@) (iD); (b) (i); () (iiD): (d) (vi)
(D) (@) (0), (i (b) (iv); (o) (iii); (d) (vi)
Which enzyme does not digest proteins present in food ?
(A) Trypsin (B) Chymotrypsin
(C) Pepsin (D) Lipase
B G TEEA WS § Il SR @ are w7
(A) fefas (B) il
(€) afeT (D) it
Which of the following is not the maiching set ?

(A) Spleen - Billroth chords

(B)  Sinu Atral Node - Pacemaker

(C) Tricuspid valve - Mitral valve

(D) Thebesian valve - In right atrium of human heart

et & @ @ gt a9 3 7

(A) wirer - fawdy

(B) T enfer= Wi — ifyates

(©) Prpdt s - frea s

(D) UeReT ®ue - =T 22w % e anfys &

- [ PT.O.
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Androgens are secreted by -

(A) Sertoli cells (B)
{C) Tunica propria D)
TR BT FrEv B § —
(A) TR iR (B)
(©) b wiften | (D)

Bacterial diseases in man are -

(A) Typhoid, plague, malaria (B)
(C) Diphtheria, pneumonia, influenza (D)
T ¥ iaed AT -

(A) T @ R (B)
(C) fewelifar, =gAifmn, s (D)

Sclect. the correct set of homologous organs -

Leydig cells
Spermatogonial cells

e wifyEed
SEBTYSTHI HIRTATE

Typhoid, plague, typhus

Plague, malaria, typhoid

TREIES, T, JEHY
S, AARET, TIEHhIES

(A) Forelimb of man, wings of birds and flippers of whale
(B) Forelimb of man, wings of insects and wings of birds
(C) Forelimb of man, hind legs of horse, wings of birds

(D) Forelimb of man, tail of horse, wings of bat

(A) HAFE & SUUE, Tl 6 U AT XA b HAUG
(B) HHE & SUUE, HE & U@ a1 udll & dd
(C) wMHa & S1dE, 0 % U9UUE, el & g

(D) |G F IAME, U1 @ 98, gHES % U9

Connecting link between phylum Annelida and Mollusca is -

(A)  Peripatus (B)
(C) Chiton D)
dy uwfvrer ad Aiewer B AeE Fwel T -

(A) . Wiy (B)
(©) @EeT (D)

Munga silk is obtained from which insect 7

(A) Philosamia ricini (B)
(C) Antheraea paphia (D)
qm faes Rew e § W<t B & 7

(A)  feeraifmar dd+ S ®
(C) g=Ider dftsar » D)

LA1-48 ] a _ : : 16

Neopilina
Nautilus

Pranfyarsar
Tifeed

Antheraea assamu
Bombyx mori

ST STETET
gty TRTE
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85 In a Young's double slit experiment the slit separation is 1 mm and the screen is 1 m from
‘ the slit. For a monochromatic light of wavelength 500 nm, the distance of 314 minima from
the central maxima is - .
T % we f5 Bl (double slit) warT # faftat & == g0 1 mm ot @ & e o @
I m% | TH 500 nm qET e 3 Temarit waper F Ry e Fifis o e sfes @ U § -
(A) 0.50 mm (B) 1.25 mm :
(C) 1.50 mm (D) 1.75 mm
86 Brewster's law is - |
ST & | & -
(A) ip =90° (B) ML=tan ip
(C) i,—r=tanil - (D) i,=tanit
(where u = refractive index and I p= polarising angle)
(/&7 = Sraci® qET i, = g B
87 In Fraunhofer diffraction at single slit, if slit width is decreased, the adjacent minima will -
' (A) come closer (B) move apart
(C) remain at the initial positions (D) come closer initially and then move apart
w%mﬁwﬁaﬁﬁuﬁﬁwaﬁﬁaﬁw%m,?ﬁmﬁ&a@—
(A) U™ ST (B) T EM '
(C) oo Rafy o foF W@ (D) wew urE S fET g B
88  The longest wavelength in Balmer series of hydrogen spectrum will be -
ergeie Wagd A qae Sl A erfeha @ ded wr -
(A) 6557 A (B) 1216 4
(C) 4800 A (D) 5600 A
89 . When hydrogen atom is in its first excited state, its radius compared to that of ground state
is - ‘ :
(A) same ‘ (B) half
(C) twice (D) four times '
wg@wmuwﬁmwﬁm%,%ﬁmﬁwwm?ﬁmaﬁw
¥3 - -
(A) U (B) e
(C) g (D) = Tum
90 The energy required by a hydrogen atom in ground state, to move to its first excited state
is - : ' ,
@mmaﬁaﬁﬁmﬂm@rmﬁﬁmmﬁaﬁ%ﬁmmaww
& - o
(A) 13.6 eV (B) 34eV
(© 102eV (D) 122 eV
LAI48] | | 17 . [PT.O.
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91  The binding ener er n
e bindi ibout %y per nucleon for a deuterium nucleus is 1.115 MeV. Mass defect for this

gATaw i & wee Sl ufy gRme 1,115 MeV 3 | 58 e &% ol gemam afa

& 79 BRI —
(é\) 223u (B) 0.0024 u
( Yy 0.027 u (D) 0.0012 u

92 The electron emitted in beta radiation originates from -
Eé\)) ;nner orbits of atoms. . (B) free electrons existing in nuclei.
ecay of a neutron in a nuclei. (D) photon escaping from the nucleus.

dter WEAsw ¥ g O g ¥ -
(A) 9] & arafia ®el 9 |

B) e F faemm THFEE
(C) -y & =M & ag § | iy i

(D) fhw & e o B @ |

7 . . . . ’ .
93  When jLi is bombarded with a certain particle, two alpha particle are produced.

The bombarding particle is -
(A) neutron (B) proton
(C) alpha particle (D) deuteron

e JLi bl RREl 1 & et & e B q, & ot w0 o 9 ¥, T e o ® -

(A) gz (B) WRH
(C) 3w By (D) =gz™

94  In the half wave rectifier circuit o
perating from 50 Hz main fi
frequency in the ripple would be - i frequency the tondamenta

T% e a et 50 Hz gen emgft WX wid @ e ¥, 5% Ao & STRT B —
(A) 25 Hz (B) 70.7Hz B o
(C) 100 Hz (D) 50 Hz

95 At absolute zero temperature, intrinsic germanium and intrinsic silicon are -
(A) Ideal Conductor (B) Good Semiconductor
(C) Ideal Insulator (D) Conductors

Wswmwg@aﬁﬁaqeﬁ-(ﬂ@wm%w
(A) RSt OTs : (B) W IrgaH
(C) enest srame (D) =TS

96 'The logic gate represented in the following ﬁgure is -

e gu faw ¥ wifvres e qofar & -

A
Y

B

(A) OR Gate (I2) (B) NOT Gate ()
(C) NAND Gate (32) (D) XOR Gate (iI2)

LA1-4 |
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The doors are provided with handles near the outer edges far away from the hinges :

(A) to exert maximum torque on the door to open it easily.
(B) to exert minimum torque on the door to open it casily.
(C) because position of handle does not matter and is convenient to fix at the outer edge.

(D) because while opemng the door fingers are not hurt by hinges.

axarsl § Yoo o % wes ¥ e g4 q¢ wed fe T wmy e w g -

(A) avarst @ e ¥ @ & e e gd sngel @ % fag |

(B) wcarsit @ T ¥ wer & fg =praw s sl w6 T |

(C) wiifp Yo o Rufy & & wh 78 uzar ¥ 1 Al R T Eed O ST g
T

(D) <wiifs e Wed g9 Sjfdl uT wel % Sl 9 T g |

Consider a two particle system with particles having masses m1 and m,. If the first pdmcle
is pushed towards the centre of mass through a distance d, by what distance should the
second particle be moved, to keep the centre of mass at the same posmon ?

2 uiT 3 FresT WY STETCON HT RrEd U @9l B FAE my F GAC B T AR o
waﬁammmﬁmd@ﬁf@vmmqeﬁiﬁmqﬁﬁﬂﬁ@émwmm

) Por &1 ggE &w eiattd @ 7

| "2 4

W 4 ®
! d | : -T-L(l'

(©) ny + n, | ) y

A circular disc of radius 0.5 m and mass 25 kg is rotating about its own axis with a speed
of 120 revolution/min. The moment of inertia of the disc is -

(A) 1.550 kg m2 (B) 3.125 kg m?

(C) 4.125 kg m? (D) 6 250 kg m?
@WWWWWOSW@W%%H%M gl o 120 wEe/REE
N ITFR Y GO HA T | TH BT o gl B -

(A) 1.550 feum #2 (B) 3.125 e =12

(C) 4.125 T 52 - (D) 6.250 faw =2

Two samples 4 and B of a certain gas, which are initially at the same temperature and
- 7 . . . .
pressure, are compressed from volume V' to I/ A is compressed isothermally, while B is

compressed adiabatically. The final pressure of 4 is -

(A) more than that of B (B) equal to that of B

(C) less than that of B (D) twice that of B

fpely g % QY TIN 4T B Ao ¥ TH 1 T g T W E 1T Wamzmmw

pa V4 R S | A e i T B wEt ale 8 Wi B w4
@& St qrg ¥ - '
(A) B Y ifusm
(C) BH &H

(B) B % TUEX
(D) B @ g

19 [ PT.O.
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101 When 20 J of work is done on a gas, 40 J of heat energy is released. If the initial internal
energy of the gas was 70 J, what is the final internal energy ?

S oY g 9T 20 J & e s §, a‘r4wmwﬁwﬁaeﬁ%mﬁﬁaa&mﬁ%
safe Sat 70 J 8, & zue St el wet ¥ -

(A) -150J : (B) 50J

© 9%J - (D) 110J

102 An ideal heat engine operates in a Carnot cycle between 227°C and 127°C. Tt absorbs 104
Joule of heat at higher temperature. The amount of heat converted to work is -

(A) 2000 J (B) 4000 J

(C) 8000 J (D) 5600 J
wm&fmmﬁrwﬁzwzwcaﬁt 127°C & dra Frenfea €ar ¥ | 9= am W
g 10* S SO AN HIA & | ST @Y A W we A ufafda g -

(A) 2000 @ (B) 4000 5@ |

(C) 8000 S (D) 5600 S

103 The efficiencies of all reversible heat engines working between the same temperature -
(A) are same. (B) depend on fuel used.
(C) depend on pressure. (D) depend on volume.

g M A9 B 99 B B g g Sepaeliy S g9 @) g —
(A) T B E (B) wgad Ta WX Frfx s ¥
(C) =® ¥ frefx &l ¥ D) omme a¥ et e E

104 In simple harmonic motion, at which value of displacement, kinetic energy is equal to
potential energy (a is the amplitude) ?

WA oad i & fpg e X i it qur Rufier ot wwe o)t ¥ (0 s ®) 7
A) x=i’:7—5 | | (B) x=t
a
4

© x=t D) x=ta

105 A child is sitting on a swing. Its minimum and maximum heights from the ground are
0.75 m and 2 m respectively. Its maximum speed will be -
(A) 10 m/s - B) 5 mis
©) 8mis (D) 15 mis
T Sl W WX (o | SE oA ¥ P @ st SaTs sEen 075vﬁ-aa
2 HleX ¥ | Sl arfueean O BN -
(A) 10 H1./4. (B) 5 #HL/A.
(C) 8.4 (D) 15 HL/4.

LA1-48] a ‘ 20 ' [P.T.O.
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5 kg

Collar
AS kg collar is attached to a spring of force constant 500 Nm~!. It slides without friction
on a horizontal rod as shown in the figure. The collar is displaced from its equilibrium
position by 10.0 cm and released. The period of oscillation of the collar is -

5 kg’

Collar
ws 5 U1 T ST (collar) Us Reiwt ferget Rei Fraeies 500 Nm1 ¥, @m‘@w%l%@
e AR gas av R ade & iRy war ¥, Sran fom o qeiEn war ¥ g ot wyferd e
T 10.0 I forenfig & BieT ST ¥ | U BT a6
(A) 628 s (B) 62.8s
(C) 0.0628 5 - (D) 0.628 s

[T7iiiiii

firiiiiy

The right relationship between the square of speed of sound (v?) and absolute temperature
(7) of any gas in gaseous medium -

meﬁmﬁﬁm%aﬁw)amﬂa%mmﬂ%umﬁw&ezaﬁm%—

(A) 2 \ @) 12 i

A . T
(C) 2 K (D) v?
T T
108 Velocity of source of sound, when to a stationary observer the frequency appears to be
double the original frequency (velocity of sound = 330 ms~1) is -
@wﬁ@amﬁnmwﬁwﬁ%ﬁwﬁﬁa@%gﬂ:ﬁ%{mﬁ (saf w1 a1 =
330 ms™!) & -
(A) 330 ms™! (B) 165 ms!
(C) =330 ms™! ‘ (D) -165 ms!
109 In two identical tubes A4 and B, tube 4 has both ends open, while tube B has one end closed.
" The ratio of fundamental frequency of tubes 4 and B is (4 : B) -
A TEA AR A 9 B, T A4 % I R ga ¥ 9 T B ww faw 99 ¥ 1 Rt A
g B @ d engRaal & ST (4 : B) € —
A 1:2 B 1:4
(C) 2:1 D) 4:1
LA1-48 ] a v | 21 & [ PT.O.
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110 A charge ¢ is enclosed in a cube. The electric flux associated with one of the faces of cube 114 A potentiometer wire is suioplied a constant voltage of 3 7. A cell of emf 1.08 ¥ is balanced
is - ‘ ‘ by the voltage drop across 216 cm of the wire. The total length of the potentiometer wire
TH HEY ¢ UH o9 K UREE ¥ | 9US UH Bas § o aral Jgd we sial & - is -
N ' - 3 Tl S I S g (A) 200 cm (B) 400 cm
: q - q (C) 600 cm (D) 800 cm
(A) € B) 6e, uw faaamdl 9 @Bl U gad s 3 Y @er e & 1 1.08 ¥ faens. Ta
| 216 A # T WX Rvaiax ¥ dgiva @ 1 frweedt A @ pe wag S -
o ba | S | (A) 200 ¥ (B) 400
©) = (D) |
S0 : q | (C) 600 = (D) 800 §H

115 Can we use copper wire as a potentiometer wire ? Choose the correct option.

111 Three charges +4 g, O and ’ are placed on a straight line of length t point is
s 1. O 7 P Ve gth £ at points at distances (A) No, because its resistivity is very high.

0, -{- and ¢ respectively. What should be Q in order to make the net force on g to be zero ? (B)  Yes, because.it has small rc?si§tiy ity. . . . .
2 « (C) No, because it has small resistivity and also its temperature coefficient of resistance is
, : very large. , ‘
AT AT +4 g, O 3N ¢ Th ¢ W15 Wil [ qT HEen (),_e_ G et i (D) Yes, because it has very large temperature coefficient of resistance.
, ‘ 2 ‘ #47 &9 |l % A BT IUGT RvEEn (potentiometer) WX % €Y H B W & ¢ WEI Tehed
Q ®T | 1 BET Ay B g T @ A g 9@ 5 8 W 7 ; il
A) -q B -2¢ : : (A) &, w4its sud wiriear sga oifue ek ¥ |
p : : ,, (B) &, @difts sHa WRraesar B9 BN T |
© =35 D) 4gq | | (C) &, it gEar wRiawar ®9 € § T wly & auiE s e €

(D) &, i 3a% TRy ST ATTE 9ga ofEE B T |

112 A charged oil drop is suspended in uniform field of 3 x 104 Vs so that it neither falls nor

rises. The charge on the drop (take mass of the drop 9.9 x 10715 kg and g ~ 10 ms2) is : 116 Potentiometer measures the potential difference more accurately than a voltmeter, because :

(A) Tt has a wire of low resistance.

U SafyE 9w @ g8 3 X 10 V! % QO & ¥ Wt §% %, 9% 7 ar g Py §, (B) It has a wire of high resistance.

T UL o ¥ 1 A@ DI §F YT M7 § (T8 &1 FAEE 9.9 x 1075 kg g g ~v 10 ms2) ¢ (C) It draws a heavy current from external circuit.

(A) 3.3x10°18C (B) 32x10718¢C (D) It does not draw current from external circuit.

(C) 1.6x10718 C (D) 4.8x10-18 C v . , fevrerrdy, aivediey @) gaen § Ry ot gEar @ v ¥, il

(A) TEHT TR HF TG @ E |
(B) =9 A TTT GIAAY B % |

| ) [ | v | (C) Ue qredl aftuy ¥ =9 9 o ¢ |

113 The effective resistance between points 4 and B in given circuit is —

117 In Young's double slit experiment, the monochromatic source of yellow light is replaced by
that of a red one light then fringe width will

, (A) increase (B) decrease
10Q (C) remain unchanged (D) disappear
: : . : T % fy-Rere v ¥ o O wasr % Twavi G Y T @ Geiel A ¥ gad e g
(A) 5Q , (B) 10Q ‘ ar fBhe A - ,
. ' (A) g S v (B) §Z Wi
©) 40Q D) 500 | (€) sfati & (D) TEE ® S
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118 Correct representation of Boyle's’ law is -

S # e e wd fregr -

{

(%) Pt \ | C® 1

= =
© P17 \ o P
Vo TS

119  Which is not correct statement in terms of kinetic theory of gases ?
(A) Gases are made up of small particles called molecules.
(B) The molecules are in random motion.
~ (C) When molecules collide, they lose energy.
(D)  When the gas is heated, the molecules move faster.

W%Wﬁdﬂ?ﬁﬁfﬁ!@ﬁ%wﬁﬁﬁﬁ@rfﬁm%ﬂﬂﬁéﬁ%?
(A) T g B ¥ ey T ¥ R o) wed ¥

(B ervgait =t afq wghss 6l ¥

(C) ervjer & weq aRT B UT ol oY By By ¥ |

(D) | & T HE 9 e @ Y g5 W ¥

120  Unit of surface tension :

T TG H T ¥ - | _
(A) dynes cm™2 ‘ (B) ergs/cm
<)y m—l (D) Nml!

121 The internal resistance to flow in liquid is called -

(/}) Fl’uidit.y (B) Specific resistance
{(C) Viscosity | (D) Surface tension
od % YA % Adid WY B wed § -

(A) waar B) Rifyre gity

(Cy o (D) Ys aE
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122 Rain drops are spherical in shape because of -

(A) Surface tension (B) Capillary action
(C) Downward motion (D) Acceleration due to gravitational force

aq‘ia?ra;&vﬁﬁwa@‘%ﬁr@?ﬁ% ST BT & —
(A) I T (B) HRHEHI
(C) g @ e T (D) mw%wwﬁmﬁm

123 At room temperature, sodium crystallizes in é body centered cubic lattice with edge length
a=4.24 A . The theoretical density of sodium (At. wt. of Na = 23) is -
FaY % A G QR i a9 s ¥ feedga e ¥ 1 frws By @ dan
a=424 R ¥ WREE (Na &1 T W = 23) B g W R -

(A) 1.002 g cm™ : (B) 2.002 g cm™
(C) 3.002 g cm™ (D) 4.002 g cm™

124 Which type of 'defect’ has the presence of cations in the interstitial sites ?
(A) Frenkel defect v (B) Metal deficiency defect

(C) Schottky defect (D) Vacancy defect
fpg e @1 IR F sfavemeh W ¥ oerm @ SuRafy - ¥ 7
(A) e Fr/d (B) eg =grar e/
(©) o FREAN (D) Tl g/

125 Coordination number of sodium ion in sodiﬁm chloride crystal is -
Hifsam wiraee e § diftad sed & g e € -
(A) 3 | (B) 4
) 6 (D) 8

126 Which of the following conditions is not correct for ideal solution 7
(A) No change in volume on mixing.
(B) No change in enthalpy on mixing.
(C) Tt obeys Raoult's law.
(D) Ionisation of solute should occurs to a small extent.

P & @ B O Rafy omeyt feraw % e @ W ¥ 7
(A) Tufda &7 o¥ Sgee & &8 uiada 81 e
(B) fifym & W el ¥ aig afadE T B
() TE S % TEH BT UeE B 5

(D) faera &1 e B9 B Aey |
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132 Which of the following statements is NOT CORRECT regarding resonance structures of
molecules 7.

Addai2417

127 The mole fraction of NaCl in a solution containing 1 mole of NaCl in 1000 g of water is -

1 Hi@ NaCl % 1000 g 59 gal foeras ® NaCl &t a9 Pt & —

(A) They have identical arrangement of atoms.

(A) 00177 ® 0001 : (B) They have nearly the same energy.
(C) 05 (D) 0.244 _ (C) They have same no. of electrons.
(D) They have identical bonding.
128  According to Raoult's law the relative lowering of vapour pressure for a solu‘;ion is equal : Prefufead Bat § @ &y o Y N T I p— o ad E
o (B) Mole fraction of solvent (A)maﬂaﬁaﬁwwﬁé‘r%‘s
(A) Moles of solute ole fraction of solven
(C) Moles of solvent (D) Mole fraction of solute B) ’37( .’v'f"ﬂ B el 61. THT GEE BRI S
e % FrowER e e % awee § omifis oree e axE] B ¥ - ' ©) Sﬁﬁmaﬁﬂﬁﬂwzﬁ?ﬁ%i
(A) T & A9 % (B) frraw & W@ f= &% i | (D) T e oreed B ¥ |
(C) fToamas & 9w & (D) fcig % A | ‘

133 Staggered conformation of. ethane is -

129 How many grams of NaOH will be needed to prepare 250 ml. of 0.1 M solution ? (A) equally stable as eclipsed conformation.

250 ml 0.1 M faeas S99 % R0 NaOH % Reas w1 smasaesar 21y 7

(B) more stable than eclipsed conformation.
(C) less stable than eclipsed conformation.

A) 1g B) 10¢g (D) impossible to exist.
(C) 4g D) 6¢g W % walte GEeo % Rrow ¥ wd me gy -
A (A) ¥ T YW b IO Wil TN ¥
130 Addition reaction of hypochlorous acid with propyne giyels the product - (B) I Twuy § wuEr wrl 99 ¥ )
2, 2-Dichloropropanal (B) 1, 1-Dichloropropanone ‘ '
Eg; 1,~Chloroprop§noie ; (D) 1-Chloropropanal ©) = W :\5[' W‘T wrl Gﬁ g !
BT TR T WA B s SR ¥ A e g - (D) ot o =&Y ¥
(A) 2, 2'm B 1 1SR : 134 Identify the lowest molecuial“ weight alkane containing a quarternary carbon -
© b > (A) 2, 2-dimethylpropane (B) 2, 3-dimethylbutane
: C) 2-methylbutane - (D ropane
131 Arrange the following compounds in decreasing order of ac.:idic strength - \ ﬁ( )i% ﬁ' ﬁy@[ TR B GT{[W ad t{‘véﬁ(a; I«;rﬁpﬁwff @ qeH T % ?’
ﬁ%%qmﬁrﬁm‘aﬁsﬂ%aaﬁgqmweﬁ%ﬁmﬁmﬁ%aﬁm— ¥y ;, "5 s ’
| | (€) 2-Afrrege - (D) S
135 Reason for less reactivity of benzene than ethene and ethyne towards addition reaction is -
‘ : ) ' (A) presence of 37 bonds . (B) cyclic nature
(C) sp? hybridizatidn of C atoms (D) delocalization of e
(1) an (m> Waﬁw@ﬁ%%mﬁmfmwﬁmﬁmﬁwqﬁwmsmww%
(A) 3n g4 % SuRafy (B) wHT uply
(A) I=>1>1. ® I>1>1I : ~ (O) wEa el @ sp? Hemar (D) s &1 femerietor
(C) II>1M>1I D) I>1>111 , _ |
| [PT.O. LAar48] 9 27 | " [PT.O.
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136 The correct order of atomic size of C, N, P, S follows the order -
@l C. N, P, S % UREN] SEN @ wE wH ¥ -
(A) N<C<S<P B) N<C<P<S
() C<N<S<P (D) C<N<P<S§

137 In the modern periodic table, the period indicates the value of -
(A) atomic number (B) atomic mass
(C) principal quantum number (D) azimuthal quantum number

- oyl st wreell ¥ ee Frefafes ¥ ¥ frwel @ B 7

(A) ] EE (B) U] FA
(C) Teu wiey ded (D) Rish weien g

138 The element that has highest electron gain enthalpy is -

TCITH ST WY ol g o & —
(A) F B) Cl
© o ' (D) N

139 The electronegativities of the following elements :
H, O, F, S and Cl increase in the order
Rret et 11, O, F, S o Cl % R Reee sgoromen w1 woar %9 & —
(A) H<O<F<S<Cl B) Cl<H<O<F<S
(C) H<S<O<C(CI<F D) H<S<CI<OK<F

140 The percentage of 7 character in the orbitals forming P—P bonds in P, is -

P, % PP sl g FiRfa werel ¥ por @ wfte ¥ -
(A) 25 (B) 33
< 50 D) 75

141 The interhalogen compound that has a dimeric structure is -

mﬁwﬁﬁ@ﬁmmﬁww%,a@%—

(A) CIF, | (B) ICl

(C) BrF, (D) IF,
LA1-48 ] a 28
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Which pump is important in biological reaction in human body ?
(A) Ca-Mg pump (B) K-Fe pump

(C) Na-K pump (D) Fe-Ca pump
e g ¥ R e ¥ M- O geeyet ¥ 7

(A) Ca-Mg U4 (B) K-Fedu ‘

(C) Na-K Uy (D) Fe-Ca Uq

The vapour density of completely dissociated NH,Cl is -
(A) double than that of NH,Cl

(B) half than that of NH,CI

(C) same as that of NH,Cl

- (D) determined by the amount of solid NH,CI taken

144

145
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ol Reifra NH,CL &1 a9 g+l 81T~

(A) NH,Cl& g1

(B) NH,CI &I e

(C) NH,Cl % gu

(D) Rm g 3@ NH,Cl & aen § fraffa s

Acidity of BF; can be explained on the basis of which of the following concepts ?
(A) Arrhenius concept '

(B) Lewis concept

(C) Bronsted-Lowry concept

(D) Bronsted—LoWry as well as Lewis concept

BF, &1 sweiaar fer & § Rew fagra & ot o) awerll St whdl ¥ 7
(A) SITCEF™E smEyren ul

(B) WIH STHT WX

(C) FS—dA HALUTITT YT

(D) WEE 9T SRLS-—WI YR Sl & SMET UT

When some acid is added to water, the ionic product of water -
(A) changes with an increase in pH. '

(B) changes with a decrease in pH.

(C) remains unchanged.

(D) becomes zero. ’

oA oA @ P AT e 9 O S H S O —
(A) pH ¥ gfg & dra ufiafda €mar &1

(B) pH ¥ &N & =y ufafda e ¥

(C) @ ufeaaH |

(D) 9T B ST B
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One litre of a buffer solution containing 0.01 M NH4CI and 0.1M NH,OH having pK;, of
5 has pH of -

T WIeT a7 fa@as 7§ 0.01 M NH,Claer 0.1M NH,OH ¥ 1 5% Rie pK, &1 A 5%
gy pH Bl

(Ay 9 , B) 10
)y 4 : (D) 6

147 1f pH of solution is 5.2, then its pOH will be -
afe et fewre @1 pH 5.2 ¥ & g@eT pOH & —
{A) 4.8 ' By 538
(C) 68 , (D) 8.8

148 Which of the following solution acts as a buffer ?
Frer & & | faera awk % @7 ¥ B et ¥ 7
(A) HCl+ NaCl ‘ (B) NaOH + HCI _
(€) CH;COOH + CH;COONa (D) HCOOH + HCOONH,

149 The total pressure of a mixture of two gases is -

(A)  The sum of partial pressure of each gas
(B) The difference in partial pressure of both the gases
(C)  The product of partial pressure of both the gases
(D) The ratio of partial pressure of both the gases
el =Y Tt & frgr @ g a ¥ -
(A) uds 19 ¥ il | @& 9
(B) @l W& & onifyie @ @ ey
(©) =91 Gl % orifos 3 @ e
(D) & al & srifyes Tr9 w1 eruT

150 In ideal gas equation PV = nRT, which one cannot be the numerical value of R ?
(A) 8314 x 107 erg mol~! K- ‘
(B) 8314 Jmol! K-!
(C) 8314 Pam’ mol! K-!
(D) 8.314 atm mol~! K1 : : '
wmast g % §NHTT PV = nRT ¥, Fret § ¥ H9 @ R @ TR 79 8 @ g ?
(A 8.314 x 107 apf Her-! K-
(B) 8314 5@ #@r! K-
(C) 8314 urepd A 9! K-
(D) 8.314 =rgAvss Hiw-! K-!
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